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125



e g 360o

e e g

g

O

e g

g

e

O

126



8

d F
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P

d(P, F ) = d(P, d),

d(P, F ) = d(P, P ′)

P ′

P d

V = (0, 0)

−y

P = (x, y) F =

(0,
p

2
) y = −p/2

−−→
FP =

−−→
P ′P

P ′ = (x,−p

2
) ∈ d
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8∣∣∣(x − 0, y − p

2

)∣∣∣ =
∣∣∣(x − x, y +

p

2

)∣∣∣
⇓

√
(x − 0)2 +

(
y − p

2

)2
=

√
(x − x)2 +

(
y +

p

2

)2

⇓

(x − 0)2 +
(
y − p

2

)2
= (x − x)2 +

(
y +

p

2

)2

⇓

x2 + y2 − py +
p2

4
= y2 + py +

p2

4

x2 = 2py

• p �= 0

•

py ≥ 0 p y

p > 0

p < 0

• −y

(x, y) (−x, y)

−x
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y > 0 p > 0 y < 0 p < 0

P = (x, y)

F = (p/2, 0) x = −p/2

y2 = 2px

p > 0

y2 = 2px

p < 0

y = x2/4

y = x2/4 ⇒ x2 = 4y
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x > 0 p > 0 x < 0 p < 0

2p = 4 p = 2 ⇒ p

2
= 1 F = (0, 1)

d : y = −1

y = x2/4

y2 = 4x

V = (0, 0) F =

(1, 0)
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O = (0, 0)

−xy O′ = (h, k)

x′y′ P = (x′, y′) ∈ plano−xy

x = x′ + h y = y′ + k

x′ = x − h y′ = y − k

V = (h, k) �=
(0, 0) −y

V = (h, k)

O′ = V

x′2 = 2py′

x′ = x − h y′ = y − k
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8

(x − h)2 = 2p(y − k)

(y − k)2 = 2p(x − h)

p

(x−h)2 = 2p(y−k) ⇒ x2−2hx+h2 = 2py−2pk ⇒ x2+(−2h)x+(2p)y+(−2pk+h2) = 0

ax2 + cx + dy + f = 0, a �= 0

by2 + cx + dy + f = 0, b �= 0
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V = (1,−2)

−y p = 2

(x − h)2 = 2p(y − k)

h = 1 k = −2

(x − 1)2 = 2(2)(y + 2) (x − 1)2 = 4(y + 2)

x2 − 2x + 1 = 4y + 8

y =
1
4

x2 − 1
2

x − 7
4

y =
1
4

x2 − 1
2

x − 7
4

y = ax2 + bx + c, a �= 0 a, b, c ∈ R,
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8
x = ay2 + by + c, a �= 0 a, b, c ∈ R.

y x2 = 2py x = t

y =
1
2p

t2.

• V = (0, 0)

−y

⎧⎪⎨
⎪⎩

x = t

y =
1
2p

t2, t ∈ R

• V = (0, 0)

−x

⎧⎪⎨
⎪⎩

x =
1
2p

t2

y = t, t ∈ R

−xy

(x + 2)2 =

2(y − 3)

x + 2 = t ⇒ x = t − 2 ⇒ t2 = 2(y − 3)
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t2 = 2y − 6

y =
t2 + 6

2

⎧⎪⎨
⎪⎩

x = t − 2

y =
t2 + 6

2
, t ∈ R

x = t − 2

t = x + 2 y =
t2 + 6

2

y =
(x + 2)2 + 6

2
⇒ (x + 2)2 = 2(y − 3),

V = (0, 0) d y = −2

F = (2, 0) d x + 2 = 0

F =
(

0,−1
4

)
d 4y − 1 = 0
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x2 − 2x − 20y − 39 = 0

y2 − 16x + 2y + 49 = 0

y = 4x − x2

A = (−1, 3)

y + 3 = 0

DC

AB d = 10m

AD = BC = 50m AB = 80m h1 h2

⎧⎨
⎩

x =
√

2t

y = t + 3, t ∈ [0, 8]

⎧⎪⎨
⎪⎩

x = −t

y =
t2

2
+ 3, t ∈ [−4, 0],
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